
F
itt

in
g 

in
st

ru
ct

io
ns

M
ak

e:

30
8 

S
W

; 
20

08
->

P
eu

ge
ot

Ty
pe

:
49

71



497180
4971/6

4971/8

9535315

9500112

4971/4

9531242

M10x35 (10.9)
65Nm

M12x85 (10.9)
110Nm

A

B

C

D

C

D

E

E

M8x40 (10.9)
40Nm

M8
25Nm

M8
25Nm

M8x40 (10.9)
40Nm

© 497170/03-06-2008/1

© 497170/03-06-2008 /10



© 497170/03-06-2008/9

USER MANUAL

Thule
 MX

thul
e.co

m

TÜV

approved

CARLOS

com
plia

nt

CITY CRASH

Complie
s with n

ewDIN/ISO nor
m

Mo
nta
ge
ha
nd
lei
din
g

Fit
tin
gi
ns
tru
cti
on
s

Mo
nta
ge
an
lei
tun
g

Ins
tru
cti
on
sd
em
on
tag
e

Mo
nte
rin
gs
an
vis
nin
ga
r

Mo
nta
ge
ve
jle
dn
ing

Ins
tru
cc
ion
es
de
mo
nta
je

Ist
ruz
ion
ip
er
ilm
on
tag
gio

Ins
tru
kc
ja
mon

taż
u

As
en
nu
so
hje
et

Po
ky
ny
km

on
táž
i

Sz
ere
lés
iú
tm
uta
tó

уко
вод
ств
од
ля
мо
нта
жа

NL GB

D F S DK

E

I PL SF CZ

H RU
S

Fittin
g instru

ctio
ns

C3II; D
S3; 2009-> 5267

8

7

 

© 497170/03-06-2008/2

497180
4971/6

4971/8

9535315

9500112

4971/4

9531242

M10x35 (10.9)
62Nm

M12x85 (10.9)
95Nm

A

B

C

D

C

D

E

E

M8x40 (10.9)
40Nm

M8
25Nm

M8
25Nm

M8x40 (10.9)
40Nm



49
71

(4x) M8x40 (10.9) 

(4x) M8

(2x) M8  

(4x) M10x35 (10.9) 

(4x) M10

(2x) M12

(2x) M12x85 (10.9) 

© 497170/03-06-2008/3

4971

  
 

USER MANUAL 
Thule BMA

© 497170/03-06-2008/8

5

18 19

6

1713 15 18 19

(2x) M12

(2x) M12x85 (10.9) 



© 497170/03-06-2008/7

34

13
(4x) M8x40 (10.9) 

(4x) M8

(2x) M8  

(4x) M10x35 (10.9) 

(4x) M10

15 1317

© 497170/03-06-2008/4

tested
euroApproved

Approved

Approved e11 00-7077

10

1517 131819

RAYMOND

kg

kg?

74 kg

8.8

 

D-Value :        kN

94/20/EC

Couplingsclass: A50-X

9,6

MODIFICATION? 10.9



HINWEISE:

* Die für das Fahrzeug zugelassene Anhängelast ist den Fahrzeug Unterlagen
zu entnehmen. Bei Änderungen des Fahrzeuggewichtes muβ die höchst-
zulässige Anhängelast gegebenenfalls aus dem D-Wert nachgerechnet wer-
den.
Auskunft hierüber kann Ihr Fachhändler oder der TÜV geben.

* Elektrische Anlage gemäβ StVZO anbringen.

© 497170/03-06-2008/5

0km

+
1000km

NOTE:

* Should this installation process entail the cutting of the bumper – con-
formation MUST be obtained by the installation engineer of the custo-
mer’s acceptance prior to completion. Thule Towing Systems do not
accept responsibility for any matters arising as a result of this miscom-
munication.

All measurements are in mm!

© 497170/03-06-2008/6

21

13

 

 



 
 
    
   HistoryItem_V1
   SimpleBooklet
        
     Create a new document
     Order: single binding (saddle stitch)
     Sheet size: scale to A4 (297 x 210 mm)
     Front and back: backs interleaved, upside-down
     Align: centre each page in its half of sheet
      

        
     0
     CentrePages
     InlineInvert
     10.0000
     20.0000
     0
     Corners
     0.3000
     None
     1
     0.0000
     1
     1
     0
            
       D:20110412083238
       1190.5512
       a3
       Blank
       841.8898
          

     Wide
     16
     Single
     546
     213
    
     0
     A4Wide
            
       CurrentAVDoc
          

     1
      

        
     QITE_QuiteImposing2
     Quite Imposing 2.9b
     Quite Imposing 2
     1
      

   1
  

 HistoryList_V1
 qi2base





